
(1)

(2)

(3)

(4)

(5)

(6)

()

(8)

(9)

«Provision to parents of givingeducation opportunity to their children having age 6 to l4 ycars." The
above section is added in which set of schedule 86of Indian constitution under fundamental rights?

(A) Section -11

(C)Section -86

(C) Jayshankar Desai

Who is the author of life sketch ofMahadevbhai Desai “Agnikund Mein Uga Hua Gulab'"?

(A) Manbhatt

(A) KaviPreetam Das

(C) Damodar Khushal Botadkar

Who is the author ofstanza "Harino Marag Che Shoorano"?

(A) 6

(C) 5

(C)Husmuddin

Function of Union ofIndia is mentioned in which part of IndianConstitution?

(A) Young India

(C) Vartaman Bharat

(A)Satyug (age)

(C) Jurassic age

(B)Section -2

Which Indian sportsperson won bronze in 51 kg category in World Boxing Championship?

(A) Sukhdev

(D) Section - 4

(A) Diffusion ofLight

(C) Diffraction oflight

(B)Narayan Desai

(D)Mahadev Desai

Toencourage Indian people for independence movement which English newspaper has been
started by Gandhiji in India first?

(C) 32%

(B) Manishankar Ratnajee Bhatta

(A) Part -3 (A)

(D) Narsinh Mehta

(C) Part -4 (A)

MUSIC (A)

(B) 4

In which age Himalayan Mountain Range formed?

(D) 2

(B) Nishant Dave

(D)Deepak Bhuriya

Stars of sky shine because of whicheffect ofScience?

(B)Youth India

(D)Aandolan

(B) Archean age

(D) Tertiary age

What is the share of industries in gross national production in India?

(A) 25%

(B) Refraction oflight

(D) Division oflight

(10) Inwhich partofIndian constitution, fundamental duties have been included?

(B) 29%

(D) 39%

(B) Part -5 (A)

(D) Part - 6 (A)
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(11)

(13)

(15)

(16)

(12) In which ofthe following programmesinteractive board is used?

(17)

Who was thefirstperson to receive"Bharat Ratna"?

(18)

(A)Dr. Rajendra Prasad

(C) Mahadevbhai Desai

(20)

(A) PragyaAbhigam

(C) Virtual Classroom

(A) 14

(C) 18

Unique ID ofhow many digits is given to the students ofa secondary school?

(14) Education is a subjectof which list in Indian Constitution?

(A) Central List

(C) Joint List

In which organ, there is insulin production?

(A)Stomach

(C) Large intestine

(A) India

(C) France

(A) Jamnagar

(C) Digboi

(B) Dr. Sarvepalli Radhakrishnan

(A) 79

(D) Lalbalhadur Shastri

(C) 81

(B) Bal Project

In which country Hockey World Cup (Mens) -2023 was organised?

(A) PARAKH

(D)Gyankunj Project

(C) DIKSHA

(B) 16

(A)Class 6

(C) Class 10

(D) 19

Where is the World's Biggest Mineral Oil Purification Plant?

MUSIC (A)

(B) State list

(D) District list

(B) Pancreas

(D) Brain

Howmany leaves including holidays have been decided for Gujarat Secondary and Higher Second
ary Schools for the year 2023-24 by Gujarat Secondary and Higher Secondary Education Board?

(B) Japan

(D) Brazil

(19) According to National Education Policy-2020, which institution has been authorized for monitoring of
minimum commercial and quality standards followed by StateCentral Schools?

(B) Ankleshwar

(D) Dehradun

(B) 80

(D) 82

(B) SWAYAM

Up to which class education is expected in mother tongue in National Education Policy 20202

(D) SSSA

(B)Class 8

(D)Class 5
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(21)

(23)

(26)

If'thesyllabus is changed because ofbusiness and industries then this is considered as eflect ofwhich

factors on educational objectives?

(22) Without thinking on what a person is doing what he should do? This thought is connected with which

goals of education?

(27)

(A)Cultural factors

(28)

(C) Economical factors

(30)

(A) Ethical goals

(C) Goal ofcomplete life

(A) Infomal

(C) llegal

Objectives, syllabus, institutions and time limit ifallof these are decided then this is considered as

which form of education?

(24) Which program does not directly apply to Informal learning?

(A)Knowledge ofalphabets

(C) Education of business

(A) Starting

(C) Process

(25) Which of the following issues is not included in three issues oflearningprocess?

(A)Physical difference

(C) Difference in hobbies

(A) Intelligence Quotient (I.Q.)

(C) Regional Quotient (R.Q.)

(B) Social factors

(D) Ethical factors

(C) Morgan

(B) Goals ofataining knowledge

(D) Goals ofgood use of free time

Some children are introverts, some are extroverts, some are talkative and some ofthemare shy.This
type of difference in children is known as

(A) Attitude Criteria

(C) Zest/Rasa modification

(B) Formal

(D) Joint

(A)Teacher-Student Behaviour

(C) Teacher-Material Behaviour

(B)Examination

Which ofthe followingis not included in different intelligence quotients ?

MUSIC (A)

(D) Deaddiction

(B) Result

(D) Evaluation

Who has developed vocational interest modification?

(A) McDougall

(B) Difference in personality

(D) Social difference

(29) Which experiment is used to measure abilities/powers like Art, Music, Creativity in a person?

(B) Spiritual Quotient (S.Q.)

(D) Emotional Quotient (E.Q.)

(B) Strong

(D) Garret

Which is not included in three types ofinternal processes in a class?

(B) Interest experiment

(D) Aptitude experiment

(B) Student-Material Behaviour

(D) Student-Student Behaviour
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(31) Which of the following is sot inclwbed in canmonly uwed thue mikdle pritim sttitkal ranes
(A) Mean

(C) Mode

A) Writn

(32) Which is different from the thrce tests of evalutin?

(C) Practical

(A) Microsoft fxcel

(C) Microsoft Word

(33) With which of thefollowing isspreadshet related?

(A) Gijubhai Badhcka

(C) Taraben Modak

(A) Mahatma Candhiji

(C) MI.Arvind

(34) Whone philosoghry ofeducation is shown in "Framing smnt Clating"

(A) Principle of uility

(C)Principle of labour

(A) 15 years and above

(C)6years to14 years

(35) Education tzy produstive labour, for productive latonst, and can only be of produtivelabenur

(A) PMeVIDYA

(B)Medim

(C) DIKSHA

(D) Mudpainm

(39) Who talked about learning by senses ?

(A) Dr. S. Radhakrishnan

(B) Oral

(36) Whichofthe foilowing principles is rot included in principlesof John Dewey?

(C) Mahatma CGandhi

(D)Fuetional

(A) Maria Montessory

(B) Microssft Powerpaint

(C) Jin Piayet

(D)Access

(37) New India Literacy Progran (NILP) has been started for illiterate of which age group'?

MUSIC (A)

(B)Narathai Bhatt

(D)). KriánasTurti

(B) Ravindrarath Tagoxe

(38) Which is krown as one nation one digital patforn ?

(D) Swani Vivekananda

(B) Principle of inclintion

(D)Principle of zestrasa)

(B) 15 years to 55 years

(D) 21 ycarsto 65 years

(B) BISAG-N

(40) Who started lcaming bry senses fot special children?

(D) Varnde Ciujarat Channel

(B) Ravindrarath Tagore

(D)Maharishi Arvind

(B)Grace Fernold

(D) Ivan Pavloy

(624)



(41) Which ofthe following pairs ol'psychologists associatecl with study is correct?

(42)

(44)

(43) Who gavc Discovery lcarning approach ?

(A) Trialand Error- Vygotsky
(C)Constructivisnm -Skinner

(47)

(48)

(49)

Which ofthe following is not a clharacteristic leaning process?
(A) Expericnce is neccssary for learning
(B) Intemction with environment is necessary for learning
(C) Learning can enter lrom one condition to the other
(D) Memory is necessary for leaming

(A) Robert Gagne

(C) Bandura

(A) Diferentiation

(C) Rule

What willbe the area ofa circle having radius 14 cm? A fornula is used by children to answer this
question. Which intellectual skill he or she has obtained?

(A) Down Syndrome

(C) Cerebral Palsy

(45) In which ofthe following disorders intellectual skill ofchildren destroys?

(A) Evaluation

(3)Belaviourism -Pavlov

(C) Isolation

(D)Conditioning by lactors-Thomdike

(46) Which ofthefollowing will be on top level according to Bloom's Taxonomy?

(B) Jerome Brunner

(C) Education work is given at the end

(D) Ausubel

(B) Concept

(A) Mean

(D) Solution ofthe problem

(C) Median

(B) ADHD

(D)Autism

Which ofthe following is unsuitable in achievement test?

(A)Sufficient time given to the students to answer all ofthe questions

(B) Creation

(B)Class is related with progress(development)

MUSIC (A)

(D) Utilization

(D)Questions are selected to test the skills of astudent

Which ofthe following measurements of middleposition cannot be shown?

(B) Extension

(D) Mode

Which ofthe following is not true for standard deviation (o )?

(A)Group Category willbe as much as the low value of standarddeviation
(B) Standard deviation increases by the addition of anyconstant number in marks
(C) Ifallhemarks are multiplicd by only one nuumber then standard deviation increases at the same rite

(D)Standard deviation is used to know the variability of themarks
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(50)

(51)

(52)

(53)

(54)

Which ofthe following is not a charncteristic ofE-content?
(A) These are only in digital format

(B) It is presented by webpage or any other medium

(58)

(C) It contains only animation

(D) Itcan be linked with QR code.

(60)

Which ofthe following is not OER?
(A) BISAG -N
(C) NROER

(C) Class learning is interesting

Which ofthe following subjects (issue) does not apply in the concept ofE-learning?

(A)Learning-Teaching is apresent time field.(B) Learning has only one option.

(C) Basic Modification

Summary of whichcannot be applied excepting its related groups. This is what type ofmodification?
(A)Experimental modification

(C) Rationalism

(A) F
(C) H

"Children is creator ofknowledge and not consumer:"This is the conclusion of

(A)Behaviourism

(B) GROWER

(A) 10

(C) 12

(D) e-pathshala

(55) Learning is a natural process and not manmade. Who gave this concept?
(A)Aristotle
(C) Froebel

(A) 400
(C) 420

(D) Information is available online.

(56) R, U,X,A, D, ? To complete the series what will replace the *" question mark

(A)EJKNEGTP

(B) Survey

(C) EJKNFGTO

(D) Functional modification

(57) 1,3,3, 6, 7, 9,9, 12,21, ? To complete the series what will replacethe 9" question mark

(A)863203

(C) 863903

(B) Naturalism

MUSIC (A)

(D) Constructivism

(B) Rousseau
(D) Montessori

10, 100, 200,310,? To complete the series what will replace the “9" question mark

(B) G

(D) I

(59) Ina certain code TEACHER is written as VGCEJGT then in the same code CHILDREN Can be
written as?

(B) 11

(D) 13

(B) 410

(D) 430

(B) EGKNFITP

In a certain code TWENTY is written as 863985 and ELEVEN is written as 323039 then in the
same code TWELVE can be shown by which number?

(D) EJKNFTGP

(B) 863584

(D) 863063
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(61)

(62)

(63)

Ina certain codelanguage 123' mneans 'bright liule boy' and 145 means '1all big boy'. In the same
way 637' means beautiliul litle tlower' tlhen which nunber will be there for 'bright ?

(A) 1

(C) 3

If+ means x,x means -, + nieans + and-means + then which ofthe following numbers will be the

solution of 175-25 5+ 20 x 3 + 10

(A)77

(C) 240

20160

480

Select the appropriate option for?" inthe following figure

(A) 860

(C) 2880

(A) 15

(A) 140

24

4

(66) Select the odd pair:

(64) How many triangles are there in the given figure?

(A) Yoghurt-milk

(C) Peanut - oil

(B) 16

(A) 3, 2,5,4, 1

(C) 4,5, 1, 3,2

(A) 50

(B) 2

(D) 4

(65) What will be the angle in degrees between minute and hour hand ofa clock at 3:40?

(B) 150

MUSIC (A)

(B) 160

(D) 2370

(B) 1140

(B) S1

(D) 3240

(B) 50 km

(C) 17

(67) Arrange the letters of the given word alphabetically.

(1) NTERANAL (2) INSECT (3) INCOME (4) INTERN (5) INSIDE

(C) 130

(B)Sandal - leather

(D)Sugar-sugarcane

(68) Iffirst day ofa leap year is Sunday then how many Sundayswill be there in the same year?

(B) 3, 4, 5, 2, 1

(D) 3, 1, 2, 4, 5

(D) 18

(C) 52

(69) A person drives his car 50 km towards east after that he turns right and drives 30 km. Then he
turns west and drives 10 km. How much away he is fromthestarting point?
(A) 20km

(9/24)

(D) 120

(C) 100 km

(D) S3

(D)60 km



(70) Select the different figure.

(71)

(73)

(74)

(72) 1ài:l

(75)

(76)

(78)

(A)A

(79)

A

(A) 34-14

(A) sAy

(A)B4.

(A)GEL

(A) Z

(A)HAI4

(A) viM-31

(A)s0

(A) YA-499, a2
() sir-41, 3Á1:32a

MUSIC (A)

B

(B) B

(B) Pia

(B) 244a4

(B) sÍA

(B) 4Ss

(B):a

(B) 444

(D).....à uàgH18.

(B)2sr

(C) C

(C) >4iL

(C) úLyt

(C) HLà

(C) erss

(C)3Hld

(C) Ms.

(C) MBsl

(B) 2- 6LS, ue
(D)82- Ba1, 43

D

(1024)

(D) D

(D) 42

(D) 424u

(B) >412- H1At (C)Sals4- 4ulsi (D) 4Itl -4Gtl

(D) 2R5

(D) te

(D) se

(D) siALSA

(D) 4AŠl



(82)

(83) ûai qLsHÍ 's{D qLs4' s49?

(84)

(85)

(86)

(87)

(88)

(90)

(A)è4 +

(91)

(A) Aql BuuaaNeL

(C)lAqPL Buaig

(A) lBt MSL?

(C) 343 SR

(A)Mahesh was not smart at all.

(B) Mahesh was smart more than required.

(C) Mahesh was foolish.

Mahesh was too smart. (Remnove 'too' without changing the meaning.)

(A) The & an

(C) A & an

(D)I was doubtful whether Mahesh was smart or not.

(A) None

Most students have brought their homework.

(C) Each

(A)Icut my hair.

INS Arihant is

(C)Igotmy hair cut.

(A) existent

Give the nearest meaning of word:Phantom'.

(C) corporeal

Give the verb form of'little'.

(A) alitle

(C) belittle

MUSIC (A)

(B) ¿à + j4
(D)Ž4l +i

(B) A2 4UA HILA4U5AL.

(B) A44AL BaNEL
(D) 4U14AL B4uaâug

(11/24)

(B) Aa4G MásR

(D)6441MÁLR

Indian Naval ship. (Fill in the blanks)

(B) An & an

(D) The & the

ofthem have not completed it yet.

(B) Few

(D) Alitle

(B)Iclipped my hair.

(D) I hadanice hair cut.

(B) imaginary

(D) tangible

(B)unlittle

(D) bilittle



(92) Changethevoice :"What caused COVID-19?"

(94)

(93) Select the word or phrase which is closest to the opposite in meaning ofthe underlined word:"Rahul
will never accept your request.

(96)

(97)

(A)What was COVID-19caused by ?

(C) By vhat is COVID-19 caused ?

(98)

(99)

(A)turnover

(C) turn up

(C) doesn't she

Adda suitable question tag:Radha, one ofmy neighbours slipped offa staircase.

(A) did she

(95) Fill in the blanks with appropriate set of prepositions: Nidhi travelled.
the world when she was 17 years old.

(A) by, above

(C) with, around

Turn thissentence into English: "Y YBI

(A)I could still saw her standing there alone.

(C)I could still see her standing there alone.

(A)for, had gone

(C) for, have gone

(B)When did Mantra get the first prize ?

(C) Which prize Mantra got last week ?

(D)Where did Mantra get the first prize ?

Ravi

(A) works

(B) What was caused by COVID-19?

(D) By what COVID-19 was caused ?

Fillin the blanks with the appropriate word/ words : Rohan and Nayan have been on vacation
May 2023. They

(C) has been working

(A)Spactacular

(B) turn down

(C) Spactaculor

(D) reject

MUSIC (A)

(B)does she

(D) didn't she

Mantra got the first prize last week. Find out the correct option toget the underlined answer.

(A)Which prize did Mantra get last week ?

(100) Find out thecorrect spelling from the options.

(B) for, around

(D) with, over

discl Qleiell AS ALdl ell."
(B) Icould still see her stood there alone.

(D)I canstill see her standing there alone.

to Manalifor a week.

(B) since, had gone

(D)since, have gone

(12/24)

in this company for five years. Find out correct form of verb from the options.

(B) is working

.her mother all.

(D) have worked

(B) Spectacular

(D) Specteculor



(C) salt

(A)faq12l

(C)Áudl

(A)1l
(C)Áq1l

(A)dt
(C) 4t

(C)44
(104) 4l 24222UPHÍ AU4ll 212 l 4d.

(A)4231A

(C)Hsrit 241-l

(A) 44sa

(C)AlSa

(A) 414etl
(C) ißa ?laisa

(109) BUI4RUllJUNS Beà?

(C) i. 4S4 Sa

(C)4.Avgkoi4?

(B) 242

MUSIC (A)

(D) iAu2

(B) 4%d

(D) 41A1dl

(B) À

(D) 41?

(B) d

(D) 4AUdl

(B) Add

(D)R

(B) •lai

(D) 2åe HÈrl!

(B)

(D)ALs

(B) 6.ALGdlmi

(D) qAHEA

(B)4. 9ARUI

(D) 6.41HM

(B) HS12N6Lg2

(D)i.Its
(13/24)



(111) s4l QEM Áltsu-d Geei?
(A) *àE
(C) AHAE

(12) 43IE SSGUHI DIALY ?

(A)GA

(A) i4R
(C)iNH

(C)M. a%1

(115) tq eà gi ?

(C) alAL2qnl B441

(A) S1
(C) È1

(A) Cuel
(C) •ls iu

(A) RuRel

(C) 1R

(A)Ba

(C)4Ht

(120) 4uA s4L AHA A?
(A)4e

MUSIC (A)

(B) 4g2€

(D)4ucaE

(B) 4t4¢4

(D) 444

(B) 4244

(D) 44d

(B) ig HÈrl

(D) i1RIA

(B) « ALrl 42

(D) >A4Rd ilaiqLl %

(B) 4HI

(D) (MYAl

(B) LRL

(D) is

(B) gLs

(D) ÄELsdl

(B) edl
(D) SURI

(B) ai

(D) AA
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(C) AL

(122) 1ql 4L IellBal udl sl a 9?
(A) rlla
(C)Àsrll

(A)Ša
(C) sRAL

(123) & lRE HL... Qu2E L..MalMdR eÀdR& 4,'uei-l s41 tIAH AALN ?

(124) l AUŽl ALlkaR sld?
(A)

(C) 4

(125) ly yaal' g4 UL2ria?
(A) s15l

(C) dzl

(A)AgA

(C)Aa

(A) 44
(C) qudl

(A)?

(C) 4

444

(A)RER D

(C) yl

(A)za
(C)44

MUSIC (A)

(B) &1ERL

(D)ltuca

(B) sdlA
(D) EIERL

(B) 4

(D)

(B)4HL%

(D) SeU9

(B) Aa

(D) 44

(B) S15l

(D)zq

(B) L

(D) 15

(B)ŽararA

(D) s1asl

(B) zel
(D) s15l

(15/24)



(A)ldIG

(C) ELERL

(A) Ž2LS1?

(132) 4MId?Y' RUgl s4aHi UALM à9?

(C) 4EI

(A) 8

(C) 9

(A) 34tLGL

(C) >\brle

(A)345

(C) a

(136) 44Rl yla 3là?

(134) al 2, 14, 44, 444, dLIR SLlclIGAi LAUàN?

(A)8291 - jUR
(C) jR

(A) 441R

(C) stRA.

(A) qial

(C) RtlR

(139) tlA EIEUH3aa vis à ?

(A) 4

(C) 8

(B) YALIG

(A) 9 ell 16l 41

(C) 1el 16 HUD

(D) A4RL

MUSIC (A)

(B) &a

(D) HI%

(B) 10

(D) 15

(B)•laa
(D) ELERl

(B) (EyiEl

(D) srllt

(D) Aid ojela

(B) sle
(D) Arla

(B) la

(D) HAl

(B) 6

(D) 2

(B) 1 l8HA

(D) 5 l 8 HUAUA
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(142)

(A)Adle

(C)345

(A) àl
(C) Rd

(A) ŽELR

(C) UAŠa

(144) |BUALAl UAH4Bs?

(A) eauaul
(C) ousl

(C) srllG

(A) 1872

(C) 1869

(A) 62dIE UM

(B)Eväa

(A)sl ug% V2a

(D) Ae

(C) A.ML. D4R.l. Hel

(B)a

MUSIC (A)

(D) l4Grl

(146) L44ai'4 su H sA?
(A) 4IABia

(C) clu4Al

(B)42d
(D) lu4arl

(B)iY- 444 4e2

(147) 1-4-114[AL4R dIell Ualeu dai sì da ?
(A) Eluil

(D) 442

(B) RA
(D) HI%

(B) UIsQ

(D)àl

(B) 4AR

(149) "lutry" iusu aRL Hig yà?

(D) 4la

(B) 1871

(D) 1874

(B)A. ßd uBHO
(D)ißtAHRAIU ELge

(B) 4. ADH 4e
(D)A. ll u4Ža

(1724)



(C)Ha- Eluil

(5)(aeA

(o) 2uql
(u)4ala

(A) 413n

(A) S-3, -4, 1-2, 4-1

(C) 4144

(C) S-4, u-2, [-4, 4-3

()4

(154) 3YSE s4 4E124 IS?

(2) 1-4-[ A4A

(3) & 444
(4) 4- 4n

(A)atu? - dd - [Artd q14

(C) iadl -2 1a

(A)8

(156) 44 às6alaù AsUsi?

(C)44

(A)S-3, y-4,1-2, 4-1

(C) 4sLsidt

(C) $-2, 4-1,-3, 4-4

MUSIC A)

(0) yaba

(D)455

(B) M? - 419%
(D) lt - ASrtlt

(B) -2, -1, |-3, 4-4

(D) 5-1,-2, 1-3, 4-4

(B) 4:AAq

(D) E16 tdI

(B) 4Gl -41 1l
(D) 44I4%-qt4 q1El

(2) aa gaLs a43

(4) aialu Hà HÍqda
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